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Cord Blood Banking cost model

CB bank operational time
Start End10 years (?)

1st transplant!
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Mean total cost per bank 580,553
Staff no. (partially part-time) 6
Labor cost 2008 225,388
LN cost 131,912
Transplant reimbursement fees (euro) 171,889
Searches reimbursement fees 16,971
Charity funds (euro) 9,033
No. of allo unrel units collected in 2008 610
No. of allo unrel units banked in 2008 172
No. of units distributed for transplant in 2008 10

Mean cost and reimbursements (euro) per cord blood 
bank in Italy and average activity data in 2008

Data kindly contributed from 9 Italian CB banks to CNS survey - 2008



A generic biobank cost model

Biobank operational time
Start End30 years (?)

1st ‘product’ release

*consider also economic return due to ‘impact’ 



Full cost recovery from users is a barrier to accessibility (and research!)

Slide shown by Cassandra Lo Franco at P3G 2010



• Biobanking and
• Bio-
• Molecular Resources
• Research
• Infrastructure

A questionnaire on costs by the BBMRI
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ELSI: Ethical, Legal and Social Issues



BB
M

RI



BB
M

RI



Examples…
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Denis Bilodeau: slide presented at P3G meeting, Montreal, CA, 27 April 2010



•Definition of prices for 
biobanking ‘products’

•What is ‘a product’?
–whatever you can ‘sell’
–whatever has a ‘fee’



COSTS
Labor
Materials
……….
Overhead

RECOVERY
No. product 1 x fee 1 = subTotal 1
No. product 2 x fee 2 = subTotal 2
No. product Y x fee Y = subTotal 3

TOTAL = …………..



• Problem (FIAT 500 vs Ferrari P40):
– Bank distributes 3 types of products

• 1,000 products type A (minimum labor)
• 3,500 products type B (average labor, medium material cost)
• 87,000 products type C (high labor, high material cost)

– Bank costs 1,000,000 euro/year
• How should I define ‘prices’?

– 1,000,000 euro : 91,500 ‘products’ = 10.92 euro/product?
– Can you imagine ‘customers’ paying an ‘average’ price (eg 

VW Golf) when buying products of different values 
(FIAT 500 vs Ferrari)?

We need to define product
‘relative weights’



From cost to prices
• How should I ‘distribute’ my costs to 

different products (P1, P2, P3, P4)?
• Identify a rationale: (a) intrinsic value? (b) 

market request? (c) procurement difficulty? 
(d) processing costs? ………

0
100
200
300

P1 P2 P3 P4

Reference (relative 'value') Your cost Market?





1 Euro = about 10 sek (9.57)
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……





Exercise

• Determine annual cost of TTB 
(Top Siena Biobank), which 
collects, processes, stores and 
distributes products A (serum), B 
(paraffin block), C (DNA), D (viable 
cryopreserved lymphocytes) prepared in 
2 labs by 3 full time equivalent 
operators (2 full time and 2 part time)

• Prepare a price list for A, B, C, D 
products



Steps

• Collect cost of: labor, materials, 
services, amortization, overhead
– other costs?

• Determine relative weights of products
• Resolve simple arythmetics:

– C = total cost
– N1, N2, N3 … Nn = quantities of each product
– c1, c2, c3 … cn = (unknown) costs of each product

• Equation:
– cn = fnC/(N1f1 + N2f2 + N3f3 + … + Nnfn)


